Looking at Intelligent Design in Nature using Numbers and Geometric Patterns

Take a multiplication table, reduce the numbers and then colour the pixels for a number...

10|20|30|40|50|60|70|80|90|100 1|2[3|a|s|e6|7[8]9] 1 F
9 |18|27|36|45|54|63[72[81] 90 AEIEIEIEIEIEIEIELE
8 |16|24|32|40|48|56|64|72| 80 gl7|6|s5|al3][2]1]9]s B
7 |14]21|28[35(42(49|56(|63| 70 7|s5|3|1|8|6|la|2]|9] 7
6 |12]18[24[30(36(42|48|54| 60 — 6|3|9|6[3[9][6][3]9]6 - [3]
5|10|15|20|25|30|35|40|45] 50 - s|1|6|2]|7|3|8|4]|9]|5 -
4| 8|12|16|20|24|28|32|36/| 40 al8|3|7|2|6|1|5]9] 4
3|6|9[12|15[18[21|24|27| 30 3|6[9|3|6|9|[3|6]9] 3 3
2|4]6]8]|10|12|14]|16]18| 20| _ 2lal6|8|1|3|s5|7]9] 2
12]3]als]6|7]s]9]10] onro Bl 1]2]z]a]s]6]7]8]9]1
12=1+2=3 (Number 3)
121 =1+2+1=4
Mirror/Flip the pattern to see number 4... Fill in the pixels of your favorite numbers...
10 “Mathematics is the language 10
g with which God wrote 3
f, the Universe.” i
: Galileo Galilei d
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Geometric patterns,

as seen in nature, )

cymatics sound experiments,
snowflakes, crop circles
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| and the twinkling stars! |
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Take a division table, reduce the numbers and then colour the pixels for a number...

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1| *How to reduce numbers with decimal places...
0.111111 | 0.222222 | 0.333333 | 0.444444 | 0.555556 | 0.666667 | 0.777778 | 0.833889 | 1  [1.111111

0.125 0.25 0375 0.5 0.625 0.75 0.875 1 1.125 125 01=1 ..whereas... 1.1 =2 . .whereas... 1.111..=2
0.142857 | 0.285714 | 0.428571 | 0.571429 | 0.714286 | 0.857143| 1 | 1.142857|1.285714 | 1.428571| 0.12=3 ..whereas... 1.12=4
0.166667 | 0.333333 0.5 0.666667 | 0.833333 1 1.166667 | 1.333333 1.5 1.666667| 0.555...=5 ..whereas... 0.1555...=6

0.2 0.4 0.6 0.8 1 1.2 14 1.6 18 2 1.666...=7 ..whereas.. 1.1666..=8

0.25 0.5 0.75 1 1.25 15 1.75 2 2.25 25 0818181818181 =6+1=9
0.333333 | 0.666667| 1  |1.333333 | 1.666667| 2  |2.333333|2.666667| 3  |3.333333

v - = > s ; s | 2 i - | 0153846153846 . = 145+3+8+4+6 =27 =247 =9

1 2 3 a 5 6 7 38 9 10 1.153846153846... = 1+1+5+3+8+4+6 =28 =2+8=10=1+0 =1

1.1153846153846... = 1+1+1+5+3+8+4+6 =28 =248 =10=1+0=2




